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VYTYČ. BOD - V_02.2_1 :

X = 1093057.7806

Y =  462563.4135

VYTYČ. BOD - V_02.2_2 :

X = 1093055.4521

Y =  462555.1629

VYTYČ. BOD - V_02.2_3 :

X = 1093043.8871

Y =  462549.284

VYTYČ. BOD - V_02.2_4 :

X = 1093017.5617

Y =  462521.6357

VYTYČ. BOD - V_02.2_5 :

X = 1093013.478

Y =  462473.1965

VYTYČ. BOD - V_02.2_6 :

X = 1093018.7919

Y =  462398.9216

VYTYČ. BOD - V_02.2_7 :

X = 1093049.322

Y =  462314.1725

VYTYČ. BOD - V_02.2_8 :

X = 1093055.682

Y =  462268.2587

VYTYČ. BOD - V_02.2_9 :

X = 1093055.155

Y =  462239.763

VYTYČ. BOD - V_02.2_10 :

X = 1093057.0313

Y =  462192.7964

VYTYČ. BOD - V_02.2_11 :

X = 1093065.9

Y =  462149.5244

VYTYČ. BOD - V_02.2_12 :

X = 1093079.214

Y =  462112.799

VYTYČ. BOD - V_02.2_13 :

X = 1093110.3167

Y =  462069.51

VYTYČ. BOD - V_02.2_14 :

X = 1093132.8472

Y =  461999.4944

VYTYČ. BOD - V_02.2_15 :

X = 1093144.8568

Y =  461943.0925

VYTYČ. BOD - V_02.2_16 :

X = 1093154.2213

Y =  461882.3685

VYTYČ. BOD - V_02.2_17 :

X = 1093160.0285

Y =  461825.9604

VYTYČ. BOD - V_02.2_18 :

X = 1093154.3641

Y =  461776.6965

VYTYČ. BOD - V_02.2_19 :

X = 1093162.3787

Y =  461732.8212

VYTYČ. BOD - V_02.2_20 :

X = 1093190.6367

Y =  461649.7293

VYTYČ. BOD - V_02.2_21 :

X = 1093193.1595

Y =  461574.2076

VYTYČ. BOD - V_02.2_22 :

X = 1093199.5097

Y =  461542.835

VYTYČ. BOD - V_02.2_23 :

X = 1093216.0769

Y =  461540.7809

VYTYČ. BOD - V_02.2_24 :

X = 1093223.7407

Y =  461540.8464
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